

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Landmark Resources, Inc.

1616 S. Voss Suite 600

Houston, TX 77057-1264

INVOICE

Invoice Number: 139820

1

Invoice Date: Nov 12, 2013

Page:

21411.15

APPROVED NOV 25 2013

Customer ID	Field Ticket#	Payment	Terms
Land	61414	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-09	Oakley	Nov 12, 2013	12/12/13

Quantity	Item	Description	Unit Price	Amount
1.00	WELLNAME	Rose #2-3		
60.00	CEMENT MATERIALS	Class A Common	17.90	1,074.00
40.00	CEMENT MATERIALS	Pozmix	9.35	374.00
7.00	CEMENT MATERIALS	Gel	23.40	163.80
25.00	CEMENT MATERIALS	Flo Seal	2.97	74.25
141.33	CEMENT SERVICE	Cubic Feet	2.48	350.50
232.80	CEMENT SERVICE	Ton Mileage	2.60	605.28
1.00	CEMENT SERVICE	1 in to Surface	2,158.75	2,158.75
40.00	CEMENT SERVICE	Pump Truck Mileage	7.70	308.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	176.00
1.00	CEMENT SUPERVISOR	Andrew Forslund		
1.00		Kevin Ryan		
	9			
		Subtotal		5,284.58

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,373.98

ONLY IF PAID ON OR BEFORE
Dec 7, 2013

Subtotal
Sales Tax
Total Invoice Amount
Payment/Credit Appli
TOTAL

	5,284.58
	137.41
0 • *	5,421.99
5,421.99+	5,421.99
1 • 373 • 98 -	

4,048.01\*+

## ALLIED OIL & GAS SERVICES, LLC 061414

Federal Tax I.D. # 20-8651475

SERVICE POINT: REMIT TO P.O. BOX 93999 ogkley SOUTHLAKE, TEXAS 76092 TWP. JOB FINISH C.Das ON LOCATION JOB START CALLED OUT RANGE DATE //-/2-13 4,30 pm COUNTY, WELL# 2-3 LOCATION Pence 35 /2E LEASE ROSE OLD OR NEW (Circle one) CONTRACTOR Chevenne well service OWNER TYPE OF JOB 1 inch CEMENT **HOLE SIZE** T.D. AMOUNT ORDERED \_ **CASING SIZE** DEPTH 14 Flo-seg1 **TUBING SIZE** DEPTH DRILL PIPE used DEPTH 1005/15 TOOL DEPTH COMMON\_ CO @ 12,90 1074,00 PRES. MAX MINIMUM @ 9,.75 374,00 MEAS. LINE SHOE JOINT POZMIX \_ CEMENT LEFT IN CSG. GEL 7 5k5 @23-40 163,80 CHLORIDE @ PERFS. DISPLACEMENT 0 ASC. 0 EQUIPMENT @ @ PUMP TRUCK CEMENTER Andrew 74,25 @2,97 #323-28/ HELPER Kevin @ BULK TRUCK @ # 396 DRIVER @ **BULK TRUCK** DRIVER HANDLING 14/,33 CYFT@2,48 MILEAGE 2160 Ton finite 5182 Ten 605, 20 TOTAL 264/182 REMARKS: mix loosks down 1" SERVICE circulate to surface 694' **DEPTH OF JOB** PUMP TRUCK CHARGE 2158,75-EXTRA FOOTAGE MILEAGE 40 miles @ 2,20 0 MANIFOLD. @ 4.40 CHARGE TO: Landmark Resources TOTAL 2642,25 STREET. ZIP STATE\_ PLUG & FLOAT EQUIPMENT @ @ @ To: Allied Oil & Gas Services, LLC. @ You are hereby requested to rent cementing equipment @ and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was TOTAL \_ done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES \_ 1:37398 IF PAID IN 30 DAYS DISCOUNT -PRINTED NAME To

SIGNATURE

1;37398 IF PAID IN 30 DAYS 3,910,58 Net



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Landmark Resources, Inc. 1616 S. Voss Suite 600

Houston, TX 77057-1264

Invoice Number: 139640

Invoice Date: Nov 8, 2013

Page:

NOV 2 0 2013

1

Now Includes:



	APPRUVLD	0,11,04	
Customer ID	Field Ticket#	Payment	Terms
Land	61219	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-02	Oakley	Nov 8, 2013	12/8/13

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Rose #2-3		
150.00	CEMENT MATERIALS	ASC	20.90	3,135.00
430.00	CEMENT MATERIALS	Light Weight	15.95	6,858.50
28.00	CEMENT MATERIALS	Salt	26.35	737.80
3.00	CEMENT MATERIALS	Gel	23.40	70.20
900.00	CEMENT MATERIALS	Gilsonite	0.98	882.00
170.00	CEMENT MATERIALS	Flo Seal	2.97	504.90
12.00	CEMENT MATERIALS	Super Flush	58.70	704.40
652.52	CEMENT SERVICE	Cubic Feet	2.48	1,618.2
1,032.40	CEMENT SERVICE	Ton Mileage	2.60	2,684.24
1.00	CEMENT SERVICE	Production Bottom Stage	2,765.75	2,765.7
1.00	CEMENT SERVICE	Production Top Stage	2,443.75	2,443.7
40.00	CEMENT SERVICE	Pump Truck Mileage	7.70	308.00
1.00	CEMENT SERVICE	Manifold Head Rental	275.00	275.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	176.00
1.00	EQUIPMENT SALES	5-1/2 AFU Float Shoe	408.33	408.3
1.00	EQUIPMENT SALES	5-1/2 Latch Down Plug Assembly	324.09	324.0
1.00		5-1/2 D V Tool	4,087.00	4,087.0
13.00	Commence of the commence of th	5-1/2 Centralizer	57.33	745.2
100000000000000000000000000000000000000		5-1/2 Basket	394.29	788.5
2.00		5-1/2 Stop Collar	49.14	98.2

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

6,485.86

ONLY IF PAID ON OR BEFORE

Dec 3, 2013

Subtotal	Continued
Sales Tax	Continued
Total Invoice Amount	Continued
Payment/Credit Applied	
TOTAL	Continued



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

## Bill To:

Landmark Resources, Inc. 1616 S. Voss Suite 600 Houston, TX 77057-1264

Invoice Number: 139640

Invoice Date: Nov 8, 2013

Page:

2

Now Includes:



Customer ID	Field Ticket #	Payment	Terms
Land	61219	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-02	Oakley	Nov 8, 2013	12/8/13

Quantity	Item		Description	Unit Price	Amount
1.00	EQUIPMENT OPERATOR	Paul Beaver			
1.00	EQUIPMENT OPERATOR	Tyler Flipse			
1.00	OPERATOR ASSISTANT	Brandon Wilkinson			
				-	
				9	
					20 615 36

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE Dec 3, 2013

6,485.86

29,615.36 Subtotal 1,576.57 Sales Tax 31,191.93 Total Invoice Amount U \* \* Payment/Credit A 31,191.93 TOTAL 6,485.86-

31,191.93+

000

24,706.07\*+

## ALLIED OIL & GAS SERVICES, LLC 061219 Federal Tax I.D. # 20-8651475

SOUTHLAKE, TEXAS 76092	Oakley KS
DATE 11-8-13 SEC. 3 TWP 7 RANGE 34 CA	LEDOUT ON LOCATION JOB START JOB FINISH LEDOUR 195, 145, 195, 145, 195, 195, 195, 195, 195, 195, 195, 19
	45 1/2 & Sinto Scott STATE KS
OLD OR NEW (Circle one)	13 12 5 31110 3 2 11 1 2
	8
CONTRACTOR MUTCH 21 TYPE OF JOB 5 1/2 production (2 stage)	OWNER Same
HOLESIZE 77/8 T.D. 4890'	CEMENT // / / / / /
CASING SIZE 5 1/2 DEPTH 4890'	AMOUNT ORDERED 430 sks Lite 14# Floscal 150 sks ASC 10% salt 2% gel
TUBING SIZE DEPTH DRILL PIPE DEPTH	150 sks HDC 10% salt 2% gel
TOOL D.V. Tool DEPTH 2475	6 3738076
PRES. MAX MINIMUM	COMMON@
MEAS. LINE SHOE JOINT 42.18	POZMIX@
PERFS.	CHLORIDE @
DISPLACEMENT Bottom - 50 water 65.38 mid	ASC 150 SKS @ 20.90 3135.00
Top- 58.91 water EQUIPMENT	Lite 430sks @15.95 685850 Salt 28sks @20.35 737.80
	Gel 3 sks @ 23,40 70,20
PUMPTRUCK CEMENTER Taul Beauer # 120 HELPER Tyler Flipse	Gilsonite 900# @ 198 882,00
BULK TRUCK	Flo-seal 170,52 @ 2,97 504.90 WFRZII (Superflat) 1261 @58.70 704.40
# 600 DRIVER Brandon Wilkinson	@
# 566 DRIVER Juan Mender (TWS)	@
# 3 46 BRIVER JEAN INCIACO (193)	HANDLING 652.52443 @ 2.48 1618,25- MILEAGE 25.816654 405 x 2.60 2684.24
REMARKS:	TOTAL 17,195.27
Break circulation / Drop ball, Ball went througho	
Hocking pumption for cooling, mix 12 bbl super floor	, SERVICE
mir 5055 ASC Dispher with water + man flooded land	
Allow the control of	4890' - 2475'
01100 th with 600 th 1: At pressule. Drap Dart aprontino 1600	DEPTH OF JOB 4870 = 2473  PUMPTRUCK CHARGE 27 1.5.75 2143.75
01100 th with 600 th 1: At pressule. Drap Dart aprontino 1600	DEPTH OF JOB 4870 = 2473  PUMPTRUCK CHARGE 27 1.5.75 2143.75
01100 # while 2 " lift pressure Deplant open toolsoon country to sks down cases Displace with maker plus did land @ 140 to Lift pressure to	PUMPTRUCK CHARGE 27 65.75 2443.75 EXTRA FOOTAGE @ 7.70 308.00
01100 # while 2 " lift pressure Deplant open toolsoon country to sks down cases Displace with maker plus did land @ 140 to Lift pressure to	PUMPTRUCK CHARGE 27 1, 5.75 2,443.75 EXTRA FOOTAGE @ 7.70 308.00  MANIFOLD Head @ 27.50.00
combite 2.5 hrs. mix 15 cks on lit miles of siam in mire 400 sks down casen. Displace with what plus did land @ 140 to Lift pressure to the coment did not a called the head.	PUMP TRUCK CHARGE 27 65.75 2443.75  EXTRA FOOTAGE @ 308.00  MANIFOLD Head @ 27.5.00
01100 th with too the fressole Depart open too look country to state miles of single o	DEPTH OF JOB 4870 - 2473  PUMP TRUCK CHARGE 2,7 6.5.75 2,143.75  EXTRA FOOTAGE @ 7.70 308.00  MANIFOLD Hedd @ 275.00  MALU 40 9.40 176.00
combite 2.5 hrs. mix 15 cks on lit miles of siam in mire 400 sks down casen. Displace with what plus did land @ 140 to Lift pressure to the coment did not a called the head.	DEPTH OF JOB
CHARGE TO: Land Mark resources  CITCO TO WHILE OF THE PRESSURE DEPORT OF STREET  CHARGE TO: Land Mark resources  CHARGE TO: Land Mark resources  CHARGE TO: Land Mark resources  STREET	DEPTH OF JOB
CHARGE TO: Land Mark resources	DEPTH OF JOB
CHARGE TO: Land Mark resources  CITCO TO WHILE OF THE PRESSURE DEPORT OF STREET  CHARGE TO: Land Mark resources  CHARGE TO: Land Mark resources  CHARGE TO: Land Mark resources  STREET	DEPTH OF JOB 4870 - 2473  PUMP TRUCK CHARGE 27 65.75 2493.75  EXTRA FOOTAGE @ 308.00  MILEAGE MIHV 40 97.70 308.00  MANIFOLD Head @ J75.00  MILV 40 94.40 176.00  TOTAL 5,768.50  PLUG & FLOAT EQUIPMENT  Weather ford 5 1/2
CHARGE TO: Land Mark resources  CITCO TO WHILE OF THE PRESSURE DEPORT OF STREET  CHARGE TO: Land Mark resources  CHARGE TO: Land Mark resources  CHARGE TO: Land Mark resources  STREET	DEPTH OF JOB 4870 - 2473  PUMP TRUCK CHARGE 27 65.75 2443.75  EXTRA FOOTAGE @ 308.00  MILEAGE MIHV 40 9 7.70 308.00  MANIFOLD Head @ J.75.00  MILV 40 9440 176.00  TOTAL 5,768.50  PLUG & FLOAT EQUIPMENT  Wealhor ford 5/2  AFU Float Shore @ 408.33
CHARGE TO: L and Mark resources  CITY	DEPTH OF JOB 4870 - 2473  PUMP TRUCK CHARGE 27 65.75 2493.75  EXTRA FOOTAGE @ 308.00  MILEAGE MIHV 40 97.70 308.00  MANIFOLD Hedd @ J7.5.00  MANIFOLD Hedd @ J7.5.00  TOTAL 57.00  PLUG & FLOAT EQUIPMENT  Weather ford (5 1/2)  AFU Float Share @ 408.33  Latherway plus Assembly @ 324.09  DIVITED @ 4.081.00
CHARGE TO: Land Mark resources  CITCO TO WHILE OF THE PRESSURE DEPORT OF STREET  CHARGE TO: Land Mark resources  CHARGE TO: Land Mark resources  CHARGE TO: Land Mark resources  STREET	PUMP TRUCK CHARGE 27 65.75 2443.75  EXTRA FOOTAGE @ 7.70 308.00  MILEAGE MIHV 40 @ 7.70 308.00  MANIFOLD Head @ J.75.00  MILU 40 @ 4.40 176.00  TOTAL 5,768.50  PLUG & FLOAT EQUIPMENT  Weather ford (5/2)  AFU Float Shoe @ 408.33  Later plug Assembly @ 324.07  D. V. Tool @ 4.55.29  Centralizevs 13 @ 57.33 745.29
CHARGE TO: L and Mark resources  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	PUMP TRUCK CHARGE 2765.75 2443.75  EXTRA FOOTAGE @ 308.00  MILEAGE MIHV 40 @ 7.70 308.00  MANIFOLD Head @ J75.00  MILV 40 @ 4.40 176.00  TOTAL 5,768.50  PLUG & FLOAT EQUIPMENT  Weather ford 5/2  AFU Float Shoe @ 408.33  Lathdroup plug Assambly @ 324.07  D.V. Tool @ 4,081.00  Centralizevs 13 @ 57.33 745.29  Togskets 2 @ 374.27 788.58
CHARGE TO: Land Mark resources  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	PLUG & FLOAT EQUIPMENT    Weather ford (5 //2)   AFU Float Share (2 //2)   408.33     Lathdraup plug Assambly (2 //2)   7.85.86     Contralizers 13 (2 57.33 745.29     TOTAL (3 //2)   7.88.56     TOTAL (4 //2)   7.70     TOTAL (5 //2)     Contralizers 13 (2 57.33 745.29     Total (5 //2)   7.88.58     Stop Collers 2 (2 //2)   7.88.58     Stop Collers 2 (4 //2)   7.88.58     Total (7 //2)   7
To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE 27 65.75 2443.75  EXTRA FOOTAGE @ 7.70 308.00  MILEAGE MIHV 40 @ 7.70 308.00  MANIFOLD Head @ 27.50.00  MILU 40 @ 4.40 176.00  TOTAL 5,768.50  PLUG & FLOAT EQUIPMENT  Weather ford (5/2)  AFO Float Shoe @ 408.33  Lathdown plug Assembly @ 324.07  D.V. Tool  Centralizers 13 @ 57.33 745.29  Boskets 2 @ 394.29 788.58  Stop Cellers 2 @ 49.14 18.28
CHARGE TO: Land Mark resources  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	PLUG & FLOAT EQUIPMENT    Depth of Job   4870 - 2473
To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	PUMP TRUCK CHARGE 27 65.75 2443.75  EXTRA FOOTAGE @ 7.70 308.00  MILEAGE MIHV 40 @ 7.70 308.00  MANIFOLD Head @ 27.50.00  MILU 40 @ 4.40 176.00  TOTAL 5,768.50  PLUG & FLOAT EQUIPMENT  Weather ford (5/2)  AFO Float Shoe @ 408.33  Lathdown plug Assembly @ 324.07  D.V. Tool  Centralizers 13 @ 57.33 745.29  Boskets 2 @ 394.29 788.58  Stop Cellers 2 @ 49.14 18.28
To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	DEPTH OF JOB 4870 - 2473  PUMP TRUCK CHARGE 2765.75 2443.75  EXTRA FOOTAGE @ 7.70 308.00  MANIFOLD Head @ J.75.00  TOTAL 5,768.50  PLUG & FLOAT EQUIPMENT  Wealhor ford (5/2)  AFO Float Shore @ 408.33  Lathdrown plug Assembly @ 324.07  D.V. Tool @ 7.73 745.29  Total charges 2 974.27 788.58  Stop Collers 2 949.14 78.28  TOTAL G.45157  SALES TAX (If Any)  TOTAL CHARGES Q. G.15.36  DISCOUNT G.485.86 IF PAID IN 30 DAYS
CIRCULT 2.5 hrs. Michigan Displace with mine too sked and as 140 m Liet pressurable remember and land as 140 m Liet pressurable remember ded not acculate the pressurable remember ded furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	PUMP TRUCK CHARGE 27 65.75 2443.75  EXTRA FOOTAGE @ 7.70 308.00  MILEAGE MIHV 40 @ 7.70 308.00  MANIFOLD Head @ 27.50.00  MANIFOLD Head @ 27.50.00  MANIFOLD Head @ 27.50.00  MANIFOLD Head @ 27.50.00  TOTAL 5,768.50  PLUG & FLOAT EQUIPMENT  Weather ford (5/2)  AFU Float Shoe @ 408.33  Lathdroup plug Assembly @ 324.07  D.V. Tool @ 7.85.29  TOTAL 6,471.57  SALES TAX (IF Any)  TOTAL CHARGES Q GIS.36